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QUESTION 1

Which of the following can be source of report chart placed in page layout?(Choose 2)
A. Summary

B. Joined

C. Tabular

D. Matrix

Correct Answer: AD

QUESTION 2

Universal Containers has a junction object called Billings with a primary Master-Detail relationship with Accounts and a
secondary Master-Detail relationship with Orders. The app builder has a requirement to change the primary Master-
Detail relationship to a Lookup.

What happens to the secondary Master-Detail relationship with Orders?

A. The secondary Master-Detail object relationship needs to be reestablished.

B. The secondary Master-Detail object also converts to a lookup.

C. The secondary Master-Detail object becomes the primary.

D. The secondary Master-Detail object relationship is no longer valid.

Correct Answer: C

QUESTION 3

Field type conversion.

Which of the following are true? (Choose two.)

A. Data can be lost when converting from auto-number to text.

B. Data can be lost converting from number to currency (assuming that field lengths are identical).
C. Data can be lost when converting from simple picklist to multi picklist.

D. Information can be lost when converting from text area (rich) to text area (long).

Correct Answer: BC

QUESTION 4
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What statements are true about managed packages? (Choose two.)
A. Managed packages have open?source code.

B. Managed packages allow for property protection.

C. Managed packages have upgradable components.

D. Managed packages do not allow for licensing.

Correct Answer: BC

QUESTION 5

The organization-wide default for a custom object is set to private. The Supervisor profile grants view
access to the same object. A user with the Supervisor profile is also listed as the Manager on the user
detail records for a subordinate.

However, the Supervisor still cannot view records owned by the subordinate.

Which two issues are preventing the Supervisor from viewing records owned by the subordinate? (Choose
two.)

A. Organization-wide settings for the custom object grant access to other users with the same role.

B. The Supervisor requires a permission set in order to view the subordinate\\'s records.

C. The Supervisor\\'s role is not above the subordinate\\'s role in the hierarchy.

D. Organization-wide settings for the custom object do not grant access using hierarchy.

Correct Answer: CD
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